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SECTION A- READING

Q1.Read the following passage carefully: 12)
DOES IT RIGHT You hope to do several things everyday? At the end of each day, most of them are not done. You
try using a “to-do list” but discover in a short while that it is not helping you much. Tasks keep adding to it. In a
few weeks, it starts looking like a list of things you will never do and you feel stressed about it. Making a to-do list
is not enough. It is useful only when you understand the key aspects of it and work on it further. To begin with,
recognize that a to-do list is only a pool of tasks. It is just a raw collection that gives you no idea of how you will
get to it. To make it useful you have to define the ,,when®. Entering details about when you will do the different
tasks, gives the to-do list a meaning. When you begin creating a schedule, your focus shifts to how long you have to
work on each task to complete it. This way you are forced to be realistic about your goals. You cannot do all the
tasks on the list on the same day. So, you should learn to prioritize. Rank the tasks using numbers or group them
using letters of the alphabet, according to the order of importance. Now start working according to the schedule
where your schedule went wrong by paying close attention to how you are spending the day. Some of the possible
reasons are:- you waste time, made mistake in assessing how much time a task would take or deal with “urgent”
tasks frequently. If the reason is wasting time, learn to concentrate on your work. If you made a mistake in time
assessment, prepare a more realistic schedule. Another way to prioritize tasks is based on the creative energy they
require. Separate the tasks into creative and boring ones. This approach helps you to stay productive even during
cheerless parts of the day. Making schedule for items in your to-do list does not promise that all of them are
accomplished. But you can at least be strategic about what is left behind and feel happy that you achieved what you
accommodated in the finite space. This way you can begin the next day on a confident note rather than feeling
helpless and frustrated about failing.
I. Answer the questions given below, on the basis of your reading of the passage:
(a) What makes a “to-do list” useful?
(b) Why is the “to-do list” described as a raw collection?
(c) How do you become realistic about your goals?
(d) What is “prioritizing”?
(e) What are the possible reasons for failure of accomplishing the things mentioned in the list?
I1. Find the opposites of the words given below, in the passage:-

a) relieved (b) distract
Q.2. Read the following passage carefully: 3

A final year school student, called Mathew here, stumbled into science class for the seventh time. His teacher,
Rebecca Sacra wondered how such a bright boy could be so irresponsible. She then issued a reminder to her
students. “Nine times late to class and you receive a failing grade regardless of your test scores”. In the back of the
room, Mathew seemed nonplussed. Sacra decided to meet Mathew’s father to explain the situation. She braced
herself, though remembering the tough spots he’d bailed Mathew out before - like the time Mathew was caught
smoking in school or when he broke bounds. But the father’s reaction surprised Sacra. “I have been getting that boy
out of trouble for years.” He began “Maybe, it’s time to demand more - not less - of Mathew. Go ahead and flunk
him if that is what it takes to turn him around. What Mathew’s dad dreaded even more was about the possibility that
Mathew might go off to college before he learned to take responsibility for his own action. “You wouldn’t really
flunk me, would you? “Incredulous” Mathew asked his teacher the next morning. She assured him that she would.
Mathew wasn’t late ever again. The lesson Mathew’s father discovered - that parents who want their kids excel



must choose the best parenting option, not the easiest - is something teachers wish all parents knew. Says Terry
Lowe, an award-winning teacher, “Too many parents are quick to back off when kids object or complain. They bail
them out of tough spots and make excuses or give in when the going gets tough. Kids are a long - term investments,
and parents have to stop making short - term decisions about them.

(1) The central idea of the passage is .

(a) the turning around of Mathew (b) lesson on good parenting

(c) lesson of good teaching (d) boys will be boys.

(2) How did his father react on the earlier counts?

(a) He was very strict and punished the kid rightly (b) He reprimanded Mathew severely

(c) He was unconcerned as Mathew got good grades (d) He was short sighted and he bailed him out.
(3) What essentially worked in Mathew’s case ?

(a) The abilities of his father as a glib talker (b) The fact that he continued on his high grades.

(c) The fear that he would be reprimanded.

(d) The teacher’s stern warning to Mathew that she would flunk him

(4) What was Mathew’s father afraid of when the teacher mentioned the austerity bid?
(a) He thought his son would flunk

(b) He was afraid that his son would spoil his reputation

(c) He was afraid that his son would get into smoking

(d) He was afraid that his son would remain irresponsible.

(5) “She braced herself up” - means

(a) to fasten with a brace (b) to be ready for a fight
(c) to prepare onself for something unpleasant (d) to be ready to lose ones job.
II Find words in the passage that means the following:

a)Stumbled b)dreaded c¢)Wondered

SECTION - B [WRITING AND GRAMMAR]

Q.3.  There is a river near your house and lately people are dumping waster into it. This has polluted the river and
there had been increase in health problems in the area. Write a letter to the editor of a newspaper requesting
them to publish this in their paper. You can take ideas from the MCB unit “Health and Medicine”. 3

OR

You are the librarian of DPG Public School, Jaipur. You want to purchase new books like dictionary, books
on computers, story books of good authers besides for competitive exams for Medical and IIT entrance tests.
Place an order on M/S Munjal Book stores, NaiSarak, Delhi.

Q.4. Write a short story in 200-250 words based on the hints provided below: 10)
A Rabbit- very proud- fast runner-laughed on a tortoise- tortoise asked for a race- rabbit ready-ran fast- slept
in between- tortoise continued moving- reached up to the end- slow and steady wins the race

Q.5 Fill in the blanks with appropriate word. “4)

Walking is a great exercise and will definitely help you control (a) blood sugar and blood pressure. 1
hope you are (b) with the correct footwear. Good walking shoes will (c) the strain
on your foot and ankle joint. For best results one (d) _____walk for 30 minutes at a stretch.

Q.6. The following passage has not been edited. There is an error in each line. Write the correct word in

place of incorrect word in your answer sheet. Do not write the whole passage. “4)
Incorrect Correct

The passenger were waiting on the
Station when five policeman rushing
onto difference compartments of the
train. Later, one of them comes out
with two young men



Q.7. Rearrange these words/Phrases to make meaningful sentences. )]
(a) that/life began / centuries ago / scientists think / twenty million / on earth /
about.
(b) endless process/ the plants and animals/ of evolution / are the products / we
see around / us / of an / which
(c) by their environment / all the animals / and /are moulded /are products of /
their habitant.
(d) encroachment / regarded / is / loss / habitat / human / of/ due to / reason/ as /
decline / this / for / main / the

SECTION D: LITERATURE
Q.8. Read the extracts and answer the following questions: @

1. The moment the letter fell into the mailbox the postmaster went to open it. It said: “God: Of the money
that I asked for, only seventy pesos reached me. Send me the rest, since I need it very much. But don’t send it
to me through the mail, because the post office employees are a bunch of crooks. Lencho”.

(a) What was Lencho thinking while writing the letter?

(b) Why did the postmaster open the mailbox immediately after Lencho had posted his letter?
(c) How much money had Lencho asked for?

(d) Why did Lencho not want to send the rest of the money by mail?

2. Some say the world will end in fire Some say in ice.

From what I’ve tasted of desirel hold with those who favour fire.

(a) What do people think about the ending of the world?

(b) What is the poet’s opinion?

(c) What does ‘desire’ mean here?

(d) What is the rhyme scheme of this stanza?

Q.9. Answer the following Questions. 8
1. What is the central idea of the poem “Dust of Snow”?

2. What were the twin obligations mentioned by Mandela?

3. Why and how did the postmaster help Lencho?

4. Who does Lencho have complete faith in? How would we come to know this?

Q.10 Answer in brief.
1. What value we get from the chapter Nelson Mandela- Long walk to freedom. 6)
2. Write the character sketch of Mrs.Pumphrey 3
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1 1]
2 [1]
3 []
4 []
5 [1]
6 [1]

7 (2]

If the system of equation 2x + 3y =7 and 29x + (a + b) y = 28 has inlinitely many

solutions, then
(a)a=2b

(cJa+2b=0

The system of equation 2x + 3y - 7 =0 and 6x + 5y - 11 = 0 has

[Section A]
Answer in short. Each Question carries 1 Marks.

(b)b=2a

(d)2a+b=0

(a) unique solution (b} No solution (c) Infinitely many sols (d) None of these

Write whether the square of any positive integer can be of the form 3m + 2, where
m 1s a natural number. Justify your answer

Construct the cumulative frequency distribution of the following distribution:

Class Interval 6.5- | 7.5- | 8.5- 9.5- 10.5- 11.5- 12.5-
7.5 8.5 9.5 10.5 115 12.5 13.5
Frequency 5 12 25 48 32 6 1

213113111311113......0s
(a) a rational number

(¢) an irrational number

For what least value of ‘'n’ a natural number, (24)" is divisible by 87

(a) 0
(c) 1

In a cyclic quadrilateral ABCD, Lcl:{ix+4}°, ZB

ZD =(4x=75)° Find the four angles.

(b)-1
(d) No value of ‘'n’ is possible

[Section B]
Answer in short. Each Question carries 2 Marks.

(v+3)°. £C=(2y+10)°and

(b) a non-terminating decimal number

(d) Both (a) & (¢)
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8 [2] The annual rainfall record of a city for 66 days is given in the following table.
Rainfall
(in cm) 0-10 10-20 20-30 30-40 40-50 50-60
Number of
days 22 10 8 15 5 6
Calculate the median rainfall using ogives (of more than type and of less than
type)

9 [ 2] For the following distribution :

Class 0-5 5-10 10-15 1520 20-25
Frequency 10 15 12 20 9
the sum of lower limits of the median class and modal class is

(A) 15 B) 25 (© 30 (D) 35

10 [2] The given distribution shows the number of runs scored by some top batsmen of the world in
one-day cricket matches:

Runs scored Number of batsmen
3000 - 4000 4

4000 - 5000 18

5000 - 6000 9

6000 - 7000 7

7000 - 8000 6

8000 - 9000 3

9000 - 10000 1
10000 - 11000 1

Find mode of the data.

11 [2] Zeros of P(x) = 2x2+ 9x - 35 are

< _
(a) 7 and ; (b) -7 and ; (c)7and 5 (d) 7 and 2
12 [2] For the following distribution :
Marks Number of students
Below 10 3
Below 20 12
Below 30 27
Below 40 57
Below 50 75
Below 60 80
the modal class is
(A)  10-20 (B) 20-30 (C)  30-40 (D) 50-60

[Section C]
Answer in Detail. Each Question carries 3 Marks.
13 [3] For any positive integer . prove that n° — n is divisible by 6.

14 [3] Check whether the first polynomial is a factor of the second polynomial by dividing the
second polynomial by the first polynomial. x2+3x+1, 3x*+5x3-7x2+2x+2

page 2



15 [3]

16 [3]

17 [3]

18 [3]

19 [3]

20 [3]
21 [3]

22 [3]

Yash scored 40 marks in a test, getting 3 marks for each right answer and losing
1 mark for each wrong answer. Had 4 marks been awarded for each correct
answer and 2 marks been deducted for each incorrect answer, then Yash would
have scored 50 marks. How many questions were there in the test?

. 2 3 17 5 1
Solve: + =—
3x+2yv 3x—-2v 5 3x+2v 3x-2y

Size of agricultural holdings in a survey of 200 families is given in the following
table:

Size of agricultural Number of families
holdings (in ha)

0-5 10
5-10 15
10-15 30
15-20 80
20-25 40
25-30 20
30-35 5

Compute median and mode size of the holdings.

The AM of the following distribution is 47. Determine the value of P.

Classes 0-20 20-40 40-60 60-80 80-100

Frequency |8 15 20 P 5

Verify that the numbers given alongside of the cubic polynomials below are their

zeroes. Also verily the relationship between the zeroes and the coefficients :

3 32 1
2% x —Sx+..'-".7.1.—2

- . - . |r_
Prove that the following are irrationals. 6++/2
The largest number which divides 70 and 125. leaving remainders 5 and 8.
respectively. is

(A) 13 (B) 65
(C) 875 (D) 1750
Use Euclid's division algorithm to find the HCF of: 135 and 225

[Section D]

Answer in Detail. Each Question carries 4 Marks.

23 [4]

Determine graphically the coordinates of the vertices of the triangle, the equation

of whose sidesarey=x,3y=xandx+y=8.

page 3



24 [4]

25 [4]

26 [4]
27 [4]

28 [4]

29 [4]

30 [4]

Mean of the following data is

Class Interval 50-60 | 60-70 | 70-80 | 80-90 90-100
Frequency 8 6 12 11 13

(a) 76 (b) 77

(c) 78 (d) 80

Places A and B are 100 km apart on a highway. One car starts from A and another
from B at the same time. If the cars travel in the same direction at different
speeds, they meet in 5 hours. If they travel towards each other, they meet in 1
hour. What are the speeds of the two cars?

Solve 2x + 3y = 11 and 2x - 4y = -24 and hence find the value of 'm' for which
y=mx+ 3.

The wickets taken by a bowler in 10 cricket matches are as follows

2 6 4 5 0 2 1 3 2 3

Find the mode of the data.
(a) 1 (b) 4
(c)2 (d) 3

50 students enter for a school javelin throw competition. The distance (in metres)

thrown are recorded below :

Distance
(in m) 0-20 20-40 40-60 60-80 80-100

Number of
students 3] 11 17 12 4

(i) Construct a cumulative frequency table.

(i) Draw a cumulative frequency curve (less than type) and calculate the median

distance thrown by using this curve.
() Calculate the median distance by using the formula for median.
(1v) Are the median distance calculated in (i1) and (ii1) same?

Find their solutions (if they exist) by the elimination method:

A lending library has a fixed charge for the first three days and an additional
charge for each day thereafter. Saritha paid Rs 27 for a book kept for seven days,
while Susy paid Rs 21 for the book she kept for five days. Find the fixed charge
and the charge [or each extra day.

Show that the cube of a positive integer of the form 6g + r. ¢ is an integer and

r=0.1,2 3.4 5isalso of the form 6m + 7.
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. GENERAL INSTRUCTIONS

e All questions are compulsory

e Q.1to Q.2 are very short answer type questions carrying one mark
e Q.3to Q.5 are short answer type question carrying 02 marks

e Q.6 to Q.15 are short answer type question carrying 03 marks

o (.16to Q.21 are long answer type question carrying 05 marks.

e Section B contain total 6 questions which are practical based each containing 2 marks
SECTION A

Q.1 Why are decomposition reactions are called as opposite of combination reactions ?
Q.2 What is translocation in plants ?
Q.3 A shiny brown coloured element X on heating in air becomes black in colour. Name the
element X and the black coloured compound formed.
Q.4 Explain how antacid works ?
OR
How does the flow of acid rain water into a river makes the survival of aquatic life in the
river difficult ?
Q.5State the properties of image formed by plane mirror?
Or
Differentiate Regular and irregular reflection by diagram.
Q.6 Write the chemical reaction in which the following changes have taken place with an
example of each:-
a) change in colour b) change in temperature  ¢) formation of precipitate
Q.7 a) Oil andfat containing food items are flushed with nitrogen. Why ?
b) Write one equation each for decomposition reaction, where energy is supplied in
the form of heat ,light and electricity.
Q.8 Balance the following equations :-
a) HNO; + Ca(OH)2 ------- 9C3(NO3)2 + H,0
b) Al +CuCl, ----- - AIClI3+ Cu
C) HzS + 02 ----- > HZO + SO2
Q.9 A milkman adds a very small amount of baking soda to fresh milk.
a) Why does he shift the pH of the fresh milk from 6 to slightly alkaline ?
b) Why does this milk take a long time to set as curd ?
Q.10 Compound such as glucose and alcohol also contain hydrogen but are not categorised as
acids. Describe an activity to prove it.

Q.11 Draw a well labelled diagram of alimentary canal of human.
OR
Draw a well labelled diagram of respiratory system of human being.
Q.12 Write the role of following in digestion
a) pepsin  b) bile juice ¢) HCI
Q.13a) What would be the consequences of deficiency of haemoglobin in blood ?
b) State 02 difference between arteries andveins .



Q.14State the laws of reflection draw diagram to explain.
Q.15Why concave mirror is called convergent mirror.Draw diagram to explain.
Q.16a) A solution of a substance X is used in white washing.
1) Name the substance X and write its formula.
2) Write the reaction of the substance X with water.
b) Write any two difference between displacement and double displacement reactions ?
OR
2 g of lead nitrate is taken in a boiling tube . The boiling tube is heated over a flame . Now
answer the following.
1) State the colour of the fumes and the residue left.
2) Name the type of reaction involved.
3) Write a balanced chemical equation.
Q.17 a) What happens when 1) limited supply of CO; is passed through lime water.
2) CO, passed through lime water in excess. Write the reactions involved.
b) Why should curd and sour substances not be kept in brass and copper vessels ?
¢) Name the acid present in ant sting . Also give the common method to get relief from
the discomfort caused by ant sting.
Q.18 Give the example of following reaction.
a) Acid reacts with metal.
b) Acid reacts with metal hydroxide.
¢) Acid reacts with metal carbonate.
d) Base reacts with metal.
e) Base reacts with non metal oxide.
OR
Q a) Define olfactory indicators. Name two substances which can be used as olfactory
indicator.
b) Tap water conducts electricity whereas distilled water does not. Why?
¢) For a dilution of acid, acid is added into water and not water to acid. Why ?
Q.19 Draw ray diagrams to show Image formed by the Concave Mirror.(All cases)
Or
(1) Draw ray diagrams to show Image formed by the Convex Mirror.(All cases)
(i1) State the uses of Concave and convex mirror.

Q.20 a) State any two difference between autotrophic and heterotrophic nutrition.

b) Describe an activity to show that sunlight is necessary for photosynthesis.
Q.21 a) Explain the process of breakdown of glucose in a cell

1) in the presence of oxygen  2) In the lack of oxygen 3) In the absence of oxygen
b) Why is the rate of breathing factor higher in aquatic organism than terrestrial
organism ?
SECTION B

Q.22 Why does the colour of copper sulphate solution changes when an iron nail is dipped in
it ?
Q.23 When a green iron salt is heated strongly its color finally changes to blackand odour of
burning sulphur is given out. Write the reaction involved.
Q.24 You have four solutions A,B,C and D and their pH is 6,9,12 and 7 respectively. What is
the colour of solution of A,B,C and D on pH paper.
Q.25 Four students measured the pH values of water, lemon juice, and sodium carbonate.
What is the correct sequence of solution in decreasing order of pH value would be.
Q.26 Draw a well labelled diagram of open and closed stomata.
Q.27 Write the steps to prepare a temporary mount of slide of stomata .
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General Instructions:

a) The question paper is divided into four sections — Section A, Section B,
Section C and SectionD.

b) The question paper has 26 questions inall.

¢) All questions arecompulsory.

d) Marks are indicated against eachquestion.

e) Questions from serial number 1 to 7 are very short answer type questions.
Each question carries onemark.

f) Questions from serial number 8 to 18 are 3 marks questions. Answer of
these questions should not exceed 80 wordseach.

g Questions from serial number 19 to 25 are 5 marks questions. Answer of
these questions should not exceed 100 wordseach.

h) Question number 26 is a map question of 5 marks from history.

1. What did British do to repress the Rowlattsatyagrah? [1]
2. What was ChauriChaura movement? [1]
3. What are two types of resources on the basis of origin? [1]
4. What is power sharing? [1]
5. What are pressure groups? [1]
6. What is coalition Government? [1]
7. What is net attendance ratio? [1]
8. Describe how accommodation was made in Belgium? [3]
9. What is Majortarianism? What is the ethnic composition of Srilanka? [3]
10. “Money in your pocket cannot buy everything you need to live a life”. Justify the
statement with suitable examples. [3]
11. What are three limitations of Civil disobedience movement? [3]
12. Why there is a need of sustainable deveolpemt? [3]
13. What are two reasons of power sharing ? Write one example of each. [3]

14. The average income of 10 persons in a family is 10000, one new was added in a family
and the average income becomes 11200. What is the income of the newly added
member? [3]

15. What do you mean by an aspirational goal? Write one aspirational goal each of an urban
and a rural girl. [3]

16. Who formed swaraj party? Why? [3]



17.

18.

19.
20.
21.
22.
23.

24.
25.
26.

“The two examples of power sharing represents a unique style of governing the nation

“Do you agree? Which models do you like the most? Why? [3]

Why was Simon commission opposed? [5]
Or

Write a short note on Dandi March.

“Averages hide disparity”. Do you agree? Why? Show it statistically. [5]
Who was Baba Ramchandra? What efforts did he make for the peasants in Awadh? [5]
What are different forms of power sharing? Explain it. [5]
What is federalism? What are its key features? [5]
What is majortarianism? Write its ethnic composition. What was preferential policy of
Governemnt? [5]
Differentiate organized and unorganized sector. [5]
What was the objective of implementation of NREGA 2005? [5]
Locate the following on an outline political map of India? [5]

(a) Chaurichaura (b) congress session December 1920 (c) Congress session 1929

(d) Indigo movement (e) No tax campaign
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Unit Ill- WORD PROCESSING

SHORT ANSWER TYPE QUESTIONS

Define Paragraph Spacing

What is alignment?

What are Headers and Footers?

Define Style.

How can you create a Blank Template?

What are two ways of closing a Header Section?

Is it possible to insert date as a field in a Header Section? If Yes, Explain How?
What is Footer?

How can we open the Styles Task pane?

10) What is a Template?

1)
2)
3)
4)
5)
6)
7)
8)

. LONG ANSWER TYPE QUESTIONS

What steps are followed while setting the Tab Stops?

What is First Line Indent and Hanging Indent? How can we set both these Indents?
Write down the steps required to insert page numbers in a Header section.
Explain the importance of new styles and manage styles option.

How can we use the built in templates in word-20107?

Explain the functionality of different alignment options.’

How can you insert a picture in a Header?

Write the steps required for setting the line spacing between a paragraph.

Note: Complete Computer Note Book till Session 6 (Unit Ill)



